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Which fruit that sold counts to 105? 
 

 

How many tomatoes and egg plants are sold in all?  
 

 

How many more pumpkins need to sell to be equal to capsicum sold? 
 

 

1) 
 

2) 
 

3) 
 

4) 
 

What is the difference between the number of tomatoes and capsicums sold and the number 
of Broccolis and zucchinis sold? 

 
30 

 
45 

 
60 

 
55 

 

Name:__________________________                                                                                                                          Date:___________________ 

Use the information below to color in the graph showing vegetable sales. Answer the questions 
using bar graph. 

 

Bar Graph 
 

30 kg Egg plant 45 kg Zucchinis 
daisies 

120 kg Capsicums 

90 kg Pumpkin 105 kg Broccolis 75kg Tomatoes 
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Which fruit that sold counts to 105? 
 

Broccoli 
 

How many tomatoes and egg plants are sold in all?  
 

105 
 

How many more pumpkins need to sell to be equal to capsicum sold? 
 

30 
 

1) 
 

2) 
 

3) 
 

4) 
 

What is the difference between the number of tomatoes and capsicums sold and the number 
of Broccolis and zucchinis sold? 
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Name:__________________________                                                                                                                          Date:___________________ 

Use the information below to color in the graph showing vegetable sales. Answer the questions 
using bar graph. 

 

Bar Graph 
 

30 kg Egg plant 45 kg Zucchinis 
daisies 

120 kg Capsicums 

90 kg Pumpkin 105 kg Broccolis 75kg Tomatoes 


